5 % @ ﬁ Polynoomuitbreiding

Naam: Datum: Score:
(2% — 6x— 1)(5x+ 6) — 2 x 6x + 1 (2% + 5x = 3)(4x+ 5)+ 2 x 3x + 4
(6x+ 3)(4x* +2x + 1) — (4x + 3)(3x — 1) Sx— (4= x)(3x + 4)(4x — 5)
(4x* — 6x+ 1)(5x —3) + 3x + 1 (3% + 3)(Ax+2) +5¢ —x— 5
(4 + 6+ 2)(5x — 1) =3 X 6x+ 5 (4x* — H)(3x+2) + 5 —x +3
(6x° — dx — 4)(x + 2)+ 5 x 4x — 2 (2x + 3)(3x — 3)(6x — 6)
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TROTH

Polynoomuitbreiding

Naam:

(2 — 6x— 1)(5x+ 6) =2 x 6x + 1
106> — 18x%> — 53x— 5

(6x+ 3)(4x% +2x+ 1) — (4x +3)3x— 1)
24x° + 122 +Tx+ 6

(4% — 6x+ 1)(5x —3) +3x + 1
20x° — 42 + 26x — 2

(4 + 6x+2)(5x— 1) =3 x 6x+ 5
20x° + 26x7 — 14x+ 3

(637 — dx — 4)(x+2)+ 5 x dx— 2
6x° + 8x + 8 — 10

Datum: Score:

(2% + 5x— 3)(4x+ 5)+2 x 3x+ 4
8> + 30x% + 19x — 11

Sx—(4—x)3x+4)(4x—95)
12x° — 47x* = 19x + 80

(3% +3)4x+2)+57% —x—5
1252 + 1% + 11x+ 1

(4% — H)(3x+2) + 5% —x +3
120° + 13x* — 13x— 5

(2x + 3)(3x — 3)(6x — 6)
36x° — 18x° — T2x + 54
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